ohe QA AL DI AL g AR

6x—-2y+8=0
O AAHEH @ A2 ATEH
® ABAFEH @ A4AHEH

B A2 AFEHI}F A4 AFEH



2. LAY 9x-8y =6 ] THZI F A (4,0), (0,6) B AL W, ab
e ool

gy

18



AFFRA (~a-1)x+by -2 =09 2efz0] 7]&7]7} 10]2 y

Ao, F5a bOl & a+ b F2?



o,
g_l_,l
rSk
Sy
2o}
3
%0
rr
ja)
fjo
k1
i

4 =0

.o
ﬁz = 2
_‘_—_r) )
(1, 6)= A
S 51
x =]
I

Q
(1, 3)
(-1
6)
(-4, 6)

@ |
. Eadl
©
®

@
@)
O
@)
@)
NE)
®
O, ©
@
O
NE)
®
©
e



= ol o] #HE7t (1,5) o A7 AR A2?

@D 3x+y=8-x+y=4 @ 2x+y=10,x—-y=1
® 3x-2y=9,x+4y=17 @ x-y=-3,3x—y=-5

® 3x+y=5x+2y=5



Wy #AEA (-2, )L W, a, b2

@ a=3,b=10

@ a=10, b=-



Agey = ax—1 9 L7 = A AL, 3), B4, 1) &
B3 obd o], g 9] FHe] H=?

1 1
®§Sas2 @§Sas4 ® 1<a<?
@ 1<a<4 B 2<a<4

o]



8.

e agy e
o, zx & 2717

AABC °4 AB = AC ¢

@D 45° ® 55° ® 65° @ 75°

® 85°



& J2ofA AB = BO ©]1 /OAB =20° 9 o, ,COD ¢] 37|&
“Fotoiaf,




= ofd

ol A3t AABC

T

ArNaar,



11. o= % F 47449 ABC, DEF 7} A= 95| =& 230] ofd
AL

A E
F
B C D
O AB=DE, BC=EF ® AB=DE, /A =/D
® /A =/D, /C=/F @ /A = /D, AC =DF

® AC =DF, BC = EF



® Ot © @ % © ONEESC)
@ O e ® @71 @



13.

o Z1HelA /APB 9] 271 ?

@D 20° ® 40° 3 80° @ 90°

3 140°



14. o8 233 28 AABC of|A /FDC = 32° & o, /A ] 27]=?

A

@D 52° ® 56° 3 58° @ 62° B 64°



15.

A &
OA , OB of W&l 49 g 2+, R
olgt1l 5t92 W, QP = RP °|tf. ot
=7 g2 A2
0
O AQPO = ARPO ® QO =RO

® QO =PO
® /QOP = /ROP

@ /0PQ = /OPR



16.

® AO=0C
@ AF =CF
® (OEB = /OEC
@ /OBE = /OCE

® /DOB = /FOC

iy
rlo




17. ©h& 2L /B AZE9l AZkgolth aABC 9 9 U] WA B
Zolg Fatolet,

D-- ~“~16cm

Qe e



18. oh& 2ollA A M2 A = 90° 1 A7 ABC 9 Hlwl9
ZHolth /AMB : /AMC =5 :4 & ], zx o] 37]E 5ozt

@D 30° @ 40° A3 50° @ 60° B 70°



19. o3 179 AABC oA A O = @J4o]1 /AOB : £COA : /BOC =
2:3:4 9, LABC 9] 27]E Fstoizt

A




20. o= 2™o0A A 171 aABC O WA Y o, x 9] & Fstefeh

A
D&
1

2
B\ -

-
~ -

L q5----

Q




21
. =
= |
= of| A
A
ABC ol A A|
pdd
Z+o] o
15

D
20°
@)
25°
©
30°
@
35°
6
40°

M
o
1o
=
o
ftlo
i)
k1

9‘_13
=



22. thg o)A A 17 aABC ] WAIY ) Lx©] 2718 Fstelet,

A

120°



23. o2 I3 H 1& aABC 2] HAHolth. aABC 9] 2] Zo|7}

40cm ©]2L AABC 9] W o]7} 60cm? & wf, W4 L] §HA] 52 dol=?

A

P BN

D lem @ 2cm 3 3cm @ 4cm B 5cm



24. th& Tl W 1= AABC S| Y4olck. AC o Hol=9




25. (ECI = /BCI, /DBI = /CBI , BC//DE ©]1, AADE 2] &g 2]
Z0o]|7} 27cm, AD = 10cm , AE = 8cm € @, BD+CE = ( )cm
ojth. ()}t g E A ol




